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Df N 15
L ¢ : ® = 32.32( )
Nc : Nc = 36.71
. Ny : Ny = 23.79
Ng : Ng =  24.37
B qu : 100 qu = (kN/m2)
C : C = (kN/m2)
o Df : (m
L] B : (m L : (m)
AF = B L(Mm2) o=1.0+0.2 (B/L) B = 0.5-0.2 (B/L)
WF =y f DF (kN/m2) y1ls= 8.0 (kN/m3)
y f= 20 (kN/m3) y2-= 18.0 (kN/m3)
SWE = WF AF (kN) k : 1 k = 1.00
ic, iy , iq : 06 ic,iq = 1.00
6 = 0 () ic,ig=(1-6 /90)"2, iy =(1-6 /@ )2 iy = 1.00
F1 F2 F3 F4 F5 F6 F7
Df (m) 1.50 1.50 1.50 1.50 1.50 1.50 1.50
B (m) 1.00 1.20 1.40 1.60 1.80 2.00 3.00
L (m) 1.00 1.20 1.40 1.60 1.80 2.00 3.00
a 1.20 1.20 1.20 1.20 1.20 1.20 1.20
B 0.30 0.30 0.30 0.30 0.30 0.30 0.30
AF (m2) 1.00 1.44 1.96 2.56 3.24 4.00 9.00
WF (kN/m2) 30.0 30.0 30.0 30.0 30.0 30.0 30.0
> W (kN) 30.0 43.2 58.8 76.8 97.2 120.0,  270.0
n 1.00 0.94 0.89 0.85 0.82 0.79 0.69
gaL 238.4  240.8 243.2 245.4  247.5 249.5 258.9
(kN/m2) 238 240 243 245 247 249 258
gas 476.7 ~ 481.6  486.3] 490.7  495.0  499.1 517.8
(kN/m2) 476 481 486 490 494 499 517
naL (kN/m2) 208 210 213 215 217 219 228
nasS (kN/m2) 446 451 456 460 464 469 487
QaL (kN) 238 346 476 627 800 996 2322
QaS (kN) 476 693 953 1254 1601 1996 4653
NaL (kN) 208 302 417 550 703 876 2052
NaS (kN) 446 649 894 1178 1503 1876 4383
e qaL 500(kN/m2)
[ J
gaL : [ 1 (kN/m2) < >
L gas : [ 1 (kN/m2) < >
W t - naL : [ 1 (kn/m2)
~ nasS : [ 1 (kN/m2) wf)
QaL : [ 1 kN)
L QasS : [ 1&N)
> WF tﬁ NaL : [ 1 &N
-~ Nas : [ 1 (k\) G wh
gaL = k 1/3 {(ic a C Nc)+(iy B y 1B n Ny )+(igy 2 DF Nq)}
gaS = k 2/3 {(ic a CNc)+(iy B y 1B n Ny )+(igy 2 DFf Nq)}
n = (B/Bo)~(-1/3) Bo=1m
naL = qalL-Wf QaL = galL Af NaL = nalL Af
naS = gaS-Wf QaS = gaS Af NaS = naS Af
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of N 15
s Qo : ¢ = 32.32 ()
Nc : Nc = 36.71
Ny : Ny = 23.79
Ng : Ng =  24.37
B qu : 100 qu = (kN/m2)
C : C = (kN/m2)
Df : (m)
B B : (m)
AF =1t (B/2)"2 (m2) a =1.2 B =0.3
WF =y f Df (kN/m2) y1ls= 8.0 (kN/m3)
y f= 20 (kN/m3) y2-= 18.0 (kN/m3)
SWE = WF AF (kN) k : 1 k 1.00
ic, iy , iq : 06 ic,iq = 1.00
0 = 0 () ic,ig=(1-6 /90)"2, iy =(1-6 /@ )2 iy = 1.00
F1 F2 F3 F4 F5 F6 F7
Df m 1.50 1.50 1.50 1.50 1.50 1.50 1.50
B m 1.00 1.20 1.40 1.60 1.80 2.00 3.00
a 1.20 1.20 1.20 1.20 1.20 1.20 1.20
B 0.30 0.30 0.30 0.30 0.30 0.30 0.30
AF (m2) 0.79 1.13 1.54 2.01 2.54 3.14 7.07
WF (kN/m2) 30.0 30.0 30.0 30.0 30.0 30.0 30.0
> W (kN) 23.6 33.9 46.2 60.3 76.3 94.2 212.1
n 1.00 0.94 0.89 0.85 0.82 0.79 0.69
gaL 238.4  240.8 243.2 245.4  247.5 249.5 258.9
(kN/m2) 238 240 243 245 247 249 258
gas 476.7 ~ 481.6  486.3] 490.7  495.0  499.1 517.8
(kN/m2) 476 481 486 490 494 499 517
naL (kN/m2) 208 210 213 215 217 219 228
naS (kN/m2) 446 451 456 460 464 469 487
QaL (kN) 187 271 374 493 629 782 1824
QaS (kN) 374 544 748 985 1257 1568 3654
NaL (kN) 163 238 328 432 552 688 1612
NaS (kN) 350 510 702 925 1181 1473 3442
e qalL 500(kN/m2)
o
gaL : [ 1 (kN/m2) < >
L gas : [ 1 (kN/m2) < >
W t - naL : [ 1 (kn/m2)
~ naS : L 1 (kN/m2) wf)
QaL : [ 1 kN)
F QasS : [ 1&N)
T WF tﬁ NaL : [ 1 &N
-~ NaS : L 1 (k) G wh

gaL = k 1/3 {(ic a C Nc)+(iy B y 1B n Ny )+(igy 2 DF Nq)}
gaS = k 2/3 {(ic a CNc)+(iy B y 1B n Ny )+(igy 2 DFf Nq)}
n = (B/Bo)~(-1/3) Bo=1m

naL = qalL-Wf QaL = galL Af NaL = nalL Af

naS = gaS-Wf QaS = gaS Af NaS = naS Af
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0f N 15
— ¢ : ® = 32.32( )
Nc : Nc = 36.71
— Ny : Ny = 23.79
Ng : Ng =  24.37
L qu : 100 qu = (kN/m2)
C : C = (kN/m2)
T Df (m) L
L s | B (m) L : (m
Af = B L (m2) a =1.0 B =0.5
WF =y f DF (kN/m2) y1ls= 8.0 (kN/m3)
y f= 20 (kN/m3) y2-= 18.0 (kN/m3)
SWE = WF AF (kN) k : 1 k 1.00
0 : ic, iy , iq : 06 ic,iq = 1.00
6 = 0 () ic,ig=(1-6 /90)"2, iy =(1-6 /@ )2 iy = 1.00
F1 F2 F3 F4 F5 F6 F7
Df (m) 1.50 1.50 1.50 1.50 1.50 1.50 1.50
B m 0.80 1.00 1.20 1.40 1.60 1.80 2.00
L (m) 10.00 10.00 10.00 10.00 10.00 10.00 10.00
a 1.00 1.00 1.00 1.00 1.00 1.00 1.00
B 0.50 0.50 0.50 0.50 0.50 0.50 0.50
AF (m2) 8.00 10.00 12.00 14.00 16.00 18.00  20.00
WF (kN/m2) 30.0 30.0 30.0 30.0 30.0 30.0 30.0
> Wf (kN) 240.0, 300.0  360.0/ 420.0 480.0/ 540.0  600.0
n 1.00 1.00 0.94 0.89 0.85 0.82 0.79
gaL 244.7 251.1 255.2 259.0  262.7 266.3 269.7
(kN/m2) 244 251 255 259 262 266 269
gas 489.4  502.1 510.3 518.1 525.5 532.6 539.4
(kN/m2) 489 502 510 518 525 532 539
naL (kN/m2) 214 221 225 229 232 236 239
nas (kN/m2) 459 472 480 488 495 502 509
QaL (kN) 1952 2510 3060 3626 4192 4788 5380
QaS (kN) 3912 5020 6120 7252 8400 9576 10780
NaL (kN) 1712 2210 2700 3206 3712 4248 4780
NaS (kN) 3672 4720 5760 6832 7920 9036 10180
e qalL 500(kN/m2)
[ J
gaL : [ 1 (kN/m2) < >
L gas : [ 1 (kN/m2) < >
W t - naL : [ 1 (kn/m2)
~ naS : L 1 (kN/m2) wf)
QaL : [ 1 kN)
L QasS : [ 1&N)
> WF tﬁ NaL : [ 1 &N
-~ Nas : [ 1 (k\) G wh
gaL = k 1/3 {(ic a C Nc)+(iy B y 1B n Ny )+(igy 2 DF Nq)}
gaS = k 2/3 {(ic a CNc)+(iy B y 1B n Ny )+(igy 2 DFf Nq)}
n = (B/Bo)~(-1/3) Bo=1m
naL = qalL-Wf QaL = galL Af NaL = nalL Af
naS = gaS-Wf QaS = gaS Af NaS = naS Af
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GL |
N 15
Df
¢ : ® = 32.32( )
Nc : Nc = 36.71
Ny : Ny = 23.79
T } Ng : Ng =  24.37
8 ‘
| qu : 100 qu = (kN/m2)
] C : C = (kN/m2)
| L Df : (m)
B : (m) L : (m)
AF = B L(Mm2) o=1.0+0.2 (B/L) B = 0.5-0.2 (B/L)
WF =y f DF (kN/m2) y1ls= 8.0 (kN/m3)
y f= 20 (kN/m3) y2-= 18.0 (kN/m3)
SWE = WF AF (kN) k : 1 k = 1.00
ic, iy , iq : 06 ic,iq = 1.00
0 0 () ic,ig=(1-6 /90)"2, iy =(1-6 /@ )2 iy = 1.00
F1 F2 F3 F4 F5 F6 F7
Df m 1.50 1.50 1.50 1.50 1.50 1.50 1.50
B m 5.00 10.00 15.000 20.00, 25.00 30.00f 35.00
L (m) 5.00 10.00 15.000 20.00, 25.00 30.00, 35.00
a 1.20 1.20 1.20 1.20 1.20 1.20 1.20
B 0.30 0.30 0.30 0.30 0.30 0.30 0.30
AF (m2) 25.00 100.00 225.00, 400.00 625.00 900.00 1225.00
WF (kN/m2) 30.0 30.0 30.0 30.0 30.0 30.0 30.0
> W (kN) 750.0, 3000.0 6750.0|/ 12000.0 18750.0/ 27000.0 36750.0
n 0.58 0.46 0.41 0.37 0.34 0.32 0.31
gaL 275.0  307.7 335.1 359.6 382.1  403.1  423.0
(kN/m2) 274 307 335 359 382 403 423
gas 550.0 615.4  670.2 719.2 764.2 806.2 846.0
(kN/m2) 549 615 670 719 764 806 846
naL (kN/m2) 244 277 305 329 352 373 393
nas (kN/m2) 519 585 640 689 734 776 816
QaL (kN) 6850 30700 75375 143600 238750 362700 518175
QaS (kN) 13725 61500 150750 287600 477500 725400 1036350
NaL (kN) 6100 27700 68625 131600, 220000 335700 481425
NaS (kN) 12975 58500 144000 275600 458750 698400 999600
e qaL 500(kN/m2)
[ J
gaL : [ 1 (kN/m2) < >
L gas : [ 1 (kN/m2) < >
W t - naL : [ 1 (kn/m2)
~ naS : L 1 (kN/m2) wf)
QalL : [ 1&N)
L QasS : [ 1&N)
s WF tﬁ NaL : [ 1 &N
-~ NaS : [ 1 (k\) G wh
gaL = k 1/3 {(ic a C Nc)+(iy B y 1B n Ny )+(igy 2 DF Nq)}
gaS = k 2/3 {(ic a CNc)+(iy B y 1B n Ny )+(igy 2 DFf Nq)}
n = (B/Bo)~(-1/3) Bo=1m
naL = qalL-Wf QaL = galL Af NaL = nalL Af
naS = gaS-Wf QaS = gaS Af NaS = naS Af




